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Abstract We report on the performance of Hierocrypt-L1 and Hierocrypt—3 on various platforms, such that
software, hawrdware, and smartcard. They are designed to cover all over such platforms. The 64-bit block
cipher Hierocrypt-L1 archives 140Mbits/sec on Pentium III(550MHz) using C language. The 128-bit block cipher
Hierocrypt-3 archives 160Mbits/sec on Pentium III{(550MHz) using assembly language. Each Hierocrypt-L1 and
Hierocrypt-3 archives 3.88ms and 10.03ms on Z80(5MHz) using assembly language.
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K1 FETT v b7 — bR

(%3 EQUIUM 5000 P55
CPU | Penium I 550 MHz, CACHE(32KB), 2 % CACHE(512KB)
AED 256MB(SDRAM 100MHz)
0S- Windows 2000 Profesional build 2195
RRER CE& TEVTSEE
B3 BREE Visual C++ 6.0 SP3 MASM6.14
FoEfr EiTEE (/02) —

ABOENENOFE CPUVA A EERELL. BIEOBKS 28T 5, HEFMET 2 7 2R 1IRT.
Z 0 (FE CPU ¥4 7 V¥ /BENCH_COUNT) RBKFFRHL A2 1 70y 7 OLBICLERY A IAVETHY,
WHEBAN—T v MIZOEE CPUDEEI ny 7 BERLRDLNS,

#define CPUID __asm __emit Ofh __asm __emit Oa2h
#define RDTSC __asm __emit Ofh __asm __emit 031h

_.asm {

pushad

CPUID

RDTSC

mov cycles_highl, edx

mov cycles_lowl, eax

popad
}
for(i=0; i<BENCH_COUNT; i++)

function_call(in, out, ekey); /x FRAEXSR */
__asm {

pushad

CPUID

RDTSC

mov cycles_high2, edx

mov cycles_low2, eax

popad
}
temp_cyclesl = ((unsigned __int64)cycles_highl << 32) | cycles_lowi;
temp_cycles? = ((unsigned __inté4)cycles_high2 << 32) | cycles_low2;
split = temp_cycle2 - temp_cyclel;
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AEVERAREYR 2ITTRT. BB LBIVHEABIIBV T, BUBON—72BEL TORVWHEEDBEETH
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72, BAY V2 AHBIOEELBROY— 7 2 Y TREBREIN COBERBIERBIRMEBEROKXE S 25,

2 AT VEHE
Hierocrypt-L1 Hierocrypt-3
REE a—FR[F—TVE] V=27 |=—FER][F—TrE] T—7 RS
key scheduling 999 1,029 40 + 104 7,360 1,120 80 + 216 unroll
encryption 626 17,408 40 1,456 13,312 80 roll
decryption 1,187 17,408 40+104 2,419 13,312 80 roll
total 2,812 34,821 328 11,235 25,648 456 HERS
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TITo7z. FO MISTY-I{1] DEEIZSCHR [2] @ Pentium II TOHERZFIA L. FLBOANV—T vy baT uy 7
BLYAINVENLHEANRTETDHS.
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PO HELBBOERR~OERLEL HELBPIZEATEY, BELON 2HOV A IV EELELL TN, &
DMICHEFERES A 7REFELH Y, BEORELI X 5EER EOKMNRADS.
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encrypt decrypt
Algorithmm keylength || key scheduling | unroll | roll unroll roll B
k 128 370.0 600.5 | 615.0 | (1012.0)* | 1012.0
Hierocrypt—3 192 386.5 710.0 | 722.5 | (1251.0)* | 1251.0
256 468.0 808.0 | 848.0 | (1420.0)* | 1420.0
Hierocrypt-3 128 — 398.0 — ASM
Hierocrypt-L1 128 179.0 253.0 521.07 C
MISTY-1 128 — 184.0 — C

(BAL: cycles)
» N7 BB L AP RITED bhis o
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Z80[4] % CPU L LTHML TWBRv— b I —FIZBWT, LBEEFEOHET 280 72T Tz X v iR L
TEREHEREBET D, REOHRE LT 280 EHBRULKER R <— 7 —F JT6N55[5) AL, it 780
TEyT FEBTITo%k. JT6N55 ik 48KB @ ROM, 8KB @ EEPROM, 1KB @ RAM ##-, %2#L, Aw—
FA—=FTR7 ey 7 Ak ROM S B S BiTskv b, WEABEUAOLEIZ H ROM, RAM B LT
EEPROM R #BEL Eh37d, BERIWTWAEENBLNIRENTHIERa— R ERRO LS. B, B
BOTHX, LBEEEEEL LER, Av— I —FORFEBEFERTS 2 — FIXRENTRVED, 3KB URO=—
N & on-the-fly @R E RERMEL L.
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Hierocrypt-3 @47 N—F 1 & PG L THES SRS SHEM=T U 7 (RAM) £ CIOLE L 725 25— h 338 LU
HELRBAEIRTHD. BERAF—FEORMLVIZIL, A RF— "R3B ANTFrarvihesd, BED 7280
T—%7 7 F ¥ COREAT— MRE AV, LBERMOBRE LT, JTENSS OBREIERES SMHz OB4 L, &
72 780 = TIZMN T B 12MHz OBAERITR UL, RFHHEIZIOTIE, S ABHED R 1,280 /34 F OBFEF—
INERERLRERD, a—FRIZa 7 PeEEEEBLTRED, 3280 M REROBAINIE, 82R7—7 it
S-box @ 256 /%A b EEFOERMIETHMETSHY, a—FEEH IKBHIRTXS.

K4 Av— b I—FCOBEB LU AE Y &FHE
key length || RAM ROM encryption
Algorithm (bits) (bytes) | (bytes) | (states) | (@5MHz) | (@12MHz)
Hierocrypt-3 128 58 2,889 50, 157 10.03ms 4.18ms
Hierocrypt-L1 128 26 2,447 19,399 3.88ms 1.62ms
MISTY-I 128 44 1,598 25,486 5.10ms 2.12ms
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NN =TRELLT, AFH—FELL FPGA R LAHERRETHRETS. XFF—FeLOERT ok
A% 0.14 p m 3 JEE#H CMOS TH Y, WHBEFEEL LT, SYNOPSYS #:8 Design Compier 1999.10-3 ZEH L 7=.
Vialb—varfitidae—vy VAT —A R r—AD 1.35V 70°C (S —X T, 1.5V 25°C) 2AL .

¥z, FPGA OFFHIIX ALTERA 48 Max+plus Il ver. 9.6 %, U Y—2& LT ALTERA #:8 Flex 10K 7 7
IV —EFALE. FhPhOBEHNWT, YIal—iar EBREUTFICRT.
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y N FUurFE |l suvr F—% EPY4
FALY XA | BEFE | ATV avrt) | EEsk | za—rwb | TN ook
Hierocrypt-L1 5C BERE 6(14) 1282 MHz | 586 Mbps 382K =
(128bit key) | FPGA | EH% 6(14) 11.16 MHz | 51.0 Mbps - 11K
SC EEB 8(18) 126.1 MHz | 897 Mbps 81.5K .
Hierocrypt-3 sC [ioti-¢ ¥ 8(280) 185.1 MHz | 84.6 Mbps 26.TK -
(256bit key) FPGA | BE#ES% 8(18) 7.39 MHz | 52.6 Mbps - 11K
FPGA | EH#E% 8(280) 8.95 MHz | 4.1 Mbps - 6.3K
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©  64-bit block cipher Hierocrypt-Li ¢
. Version 1.0 July 10 .
*  Copyright Toshida Corporation 2000 <

#include <stdio.n>
#include <stdlib.h>

typedof unsigned char  BYTE;
typedet unsigned int  POLYI2;
#define MAX_ROUMD 6
8define prinitive ox163

BYTE sbox(266] = {

7,252, 85,112,152,142,132, 78,188,117,206, 24, 2,233, 93,128, 128, 96,120, 66,
167, 46,246,232,198,122, 47,164,178, 95, 25,135, 11,156,166,211,195,119, 61,111,
185, 45, 77,247,140,167,172, 23, €0, 90, 65,201, 41,237,222, 39,105, 48,114,168,
149, 62,249,216, 33,139, 68,218, 17, 13, 72,263,106, 1, 87,229,189,133,236, 30,

65,169,181,164,124, 6,241,177,148,129,130, 8,261,192, 81, 1§, 97,127, 26, 86,
150, 19,193,103,163, 3, 94,182,202,250,168,223,214,131,204,162, 18, 35,183,101,
208, 57,125, 69,213,176,175, 31, 6,200, §2,197, 27,121, 76,102,191,136, 74,196,
239, 88, 63, 10, 44,115,209,248,107,230, 32,184, 34, 67,179, 51,231,240,113,126,
82,137, 71, 99, 14,109,227,190, 89,100,238,246, 56, 92,244, 91, 73,212,224,243,
187, 84, 38, 48, 0,134,144,255,254,186,123, 5,173,104,161, 16,235,169,226,242,
70,138,108, 20,110,207, 53, €9, 80,210,146,116,147,225,218,174,169, 83,226, 64,
205,186,161,163,145, 49, 37,118, 54, 60, 40, 58, 35, 76,219,217,141,220, 68, 42,
234, 21,221,194,165, 12, 4, 29,143,203,180, 79, 22,171,170,160} ;

BYTE isbox(256] = {

184, 73, 12,105,246,191,128, O, 91, 85,143, 32,245, 69,164, 95,195, 68,116,101,
208,241,262, 47, 11, 30, 98,132, 16,247, 79,127,150, 64,152,117,232,226,182, 55,
230, 52,239,183,144, 41, 21, 26, 57,225,229,165,130,206,228, 80,172,121,231,123,

48, 38, 61,142,219, 50, 19,153, 66,207,200,162, 70,176,138,134,233, 42, 7,251,
208, 94,160,217,181, 2, 89, 74,141,188, 49,175,173, 14,108, 29, 17, 96,238,163,
169,119,135,103,193, §6, 72,148,202,165,204, 39, 3,158, 58,145,211, 9,227, 37,

18,133, 25,190, 84,122,169, 97, 15, 89, 90,113, 6, 77,185, 31,137,161,201, 65,
44,236, 5,248,186,224,210,212, 88, 60,100,222, 4,104, 8, 33, 34, 20,110, 81,
255,194,116,223, 27,244,189, 45, 59,216,254,253, 46,162,216,126,126, 87, 28,154,
250, 82,107,118,161, 40,221,180, 8, 76,167,136, 93,102,243, 36,139,131, 24,197,
129, 51,108,249,114,220, 10,206,120,146,209, 35,177,124,112, 67, €3,235,214,234,
237,242, 54,111,178,218,196,166,218, 75,149,156, 23, 13,240,196, 78, 63,170,140,
167, 86,199,179,174, 22,171, 43,147, 62,109, 82, 1, 71,188,187);

BYTE hconst(s] [4] = {Ox6a, Ox82, 0x79, 0x99, Ox6a, Oxd9, Oxeb, Oxai, Ox8f, Oxtb,
oxbe, Oxdc, Oxca, 0x62, Ozcl, Oxd6, Oxéa, 0xfS, Oxde, Oxf7};

int hindex(] = {1,2,3,4,4,3,2};

BYTE mds{4][4] = {{oxe4, 065, Oxc8, 0x8b}, {0x8b, Oxc4, 065, Oxc8},

{oxc8, 0x8b, Oxc4, 0x65)}, {0x65, Oxc8, Ox8b, Oxcd}};

BYTE mds_inv(41[4] = {{0x82, Oxc4, 0x34, 0x6}, {0xf6, 0x82, Oxc4, 0x34},
{0x34, 0x£6, 0282, Oxc4}, {Oxc4, 0x34, Ox6, Ox82}};

int ndsh(2}(2) = {{0x5,0x7},{0xa,0xb}};

int ndsh_inv[41[4] = {{0xc,0xa},{0x5,0xb}};

int poly32_deg(POLY32 a)

{

int n=-1;
for(; a; a >>= 1) nv+;
retwrn n;

3}
POLY32 poly32_mul(POLY32 a, POLY32 b}
{

POLYSZ ¢ = O;
for(; b; b = 1, a <<= 1) {£(bk1) c "= a;
return ¢;

3
POLY32 poly32.med(POLY32 a, POLY32 b)
{

1nt da = poly32.degla);

1at db = poly32_deg(b);

POLY32 t;

if(da < db) return a;

1f(da == b) return a’b;

b <<= da - db;

for(t = 1¢<da; da >= db; da--){
12¢akt) & "= b; b = 15 t e 1;

return a;

void heryptli_mdsl(BYTE =in, BYTE sout)

it 4, 3
PALY32 n;
Pordi=o; 1<4; 1+4) {
for(n=4=0; j<4; j++)
nm “= poly32_mod(poly32.mul(mde(11[3], inlj}), primitive);
out[1) = m;

b3
vold heryptLi_xs(BYTE ein, BYTE sout, BYTE ski, BYTE ek2)
{

BYTE t[4], ul4];
int i

for(i=0; i<4; i++) u{1) = 1n[81-x1[1}; /* xey XOR ¢/
for(1=0; i<a; i++) 4] = sbox[ultll; /e sbox o/
heryptLi_mdsi(t, u); /% MDS_L */

for(1=0; 1<4; 1++) £{1) = ulil-x2[1); /% key XOR 2/
for(1=0; 1<4; 144) out(4] = sbox(t{111;  /+ sbox «/

¥
void ndsh._mul(BYTE =in, BYTE sout, int X)
{

n1];}

int 43

BYTE ul4l;

for(1=0; 1ic4; i++) ul4] = 0;

1f (xk1) {uf0)-=inf0); u{1]-=inf1]; u(2]-=in[2]; ufs]-=inf3];}

if (x&2) {ul0)"=inlt); u{1)"=1n{2); ul2]-=1n[31"1al0]; ul3]-=n[0];}

if (xe4) {ulo]-=in(2]; u{1)~=1n[3])"1af0]; uf2)=inl0]~1al1]; ul3:

it (xa8) {u[0]“=1n{0]~1n[3); ul1}-=in{1]"{n[0]; ul2)"=1a[2]"4a[1]; uf3}"=in[2];}
for(1=0; 1<4; i++) out[i) = ulil;

3
void heryptli_ndsh(BYTE inf2] (41, BYTE out[2][(4])
i

int 1, 3, %
BYTE tmp(4];
Lor(i=0; 1<2; 1++)
Lor(§=0; j<4; J++)
for(420; 1¢€2; 1¢¢) {
for(§=0; j<2; j++) {
ndsh_nul(2in{jI (0], tnp, ndsnfi1(j1);
for(k=0; k<4; k++) out{11{k] "= tmplxl;

out[11(§]1 = o3

}
3
vold heryptLi_encrypt (BYTE oin, BYTE ¢out, BYTE ke[MAX_ROUND+1][4][4})
{

B8YTE t[2]{4], w(2)[a];

int 4, §, r, n = BAX_ROUND-1;

for(rziz0; 1<2; 1++)
ror()=0; J<4; jo+, rev)

for(r=0; ren; re+) {
teryptli_xs(at[01(0), &ulo] (0], axe(r]{0)[0], aks(rl[21[e]);
heryptli_xs(&t[11{0], 2ul11[0], axa[r)[1][0], aks(rI[3](0]};
heryptLiadsh(u, t);

e[1104] = tafr);

3

heryptLi_xs(ae[0] (0], aufo]fo], exsln}(0]{0], axs[n]){21[0));

neryptlLi_xe(ee{1][0], &ul11(0], 2ksln}[11(0], &xs(n]{3)[0]);

for(r=1=0; 1<2; f+4)
for(§=0; J<4; 34+, re+) outlr] = w1101 xs[n+11[41031;

vold heryptlLi_inds1(BYTE ein, BYTE sout)

{

lat 1, §;
POLY32 n;
for(1e0; ic4; i+¢) {
for(n=}=0; j<4; jJ++)
m ~= poly32_mod(poly32_mullmds.inv{1}[§], in[3)), primisive);
outli] = n;

b3
void heryptli.ixs(BYTE =in, BYTE vout, BYTE ki, BYTE #k2)
{

BYTE t[4], ul4);
int i
for(ix0; 1<4; 142)
Tor(1=0; 1c4; 1+4)
heryptLi_imdsl(t, u);
Lor(1=0; f<4; 14+)
tor(1=0; 1<4; i++)

ufi) = in[1)"kil4);
t[1] = {sdox{ul4]];
= WDS_L %/

1] = wli]"x2{1);
out[i] = tsbox[t[11]:

/% kay XOR o/
/# sbox 8/

~

/% kay XOR ¢/
/= abox &/



}
vold heryptli.indsh(BYTE in{2](4), BYTE ouvs[2](4])
{

int i, 3. %
BYTE tap{4];
for(3=0; i<d; is+)
for(J=0; j<4; Jo+)
2or(ix0; 1¢2; 1++) {
for(§=0; §<2; J+) {
ndsh_nul(£1nf31[0], tnp, adsh_inv(i1(41);
for(k=0; X<4; ke+) out[1][x] "= tap[x];

out[1](3) = 0;

3
}
void heryptLi_decrypt(BYTE ein, BYTE sout, BYTE ke(MAX_ROUND+1][4][4])
{

BYTE t[41(4], ule)[4);

int 4, 3, ¥, n=6;

for(rais0; 1<2; 14+)
Lor(3=0; J<4; 4+, 1+4)

for(r=0; r<n; r++) {
heryptli tzs(at(0][0], aufol{o], axs{r)(o]{0}, sxe{r](2)[0});
heryptLt ixs(ke[1](0), &u{11(0], axs{r}{1]f0], &ks[r1{s]f0l};
neryptli_indsh(u, v);

1103 = tnlr];

}

heryptLi_txs(ae{o] (0], 2ufo0] (0], aks{n]l{0}{o}, &xs(n}{2][0]}s

Beryptli txs(at{i](0], ®a(13(0], axs{n]{11{0}, axs{n)[3)[0));

for(rziz0; 1€2; i+e) .
for(j=0; j<4; =+, ree) outlrl = ul11f3) kslas11[1103);

void heryptli_keyt(BYTE ein, BYTE efout, BYTE sfkey)

{

int i3

for{1=0; 1<4; 14+) tout[1] = sbox[in[1]-txey[1]];
fout (0] "= fout[2); toutl1] “= fout[3l;

fout{2] "= fout[1); four{3] "= fout[o};

3}
void svap.key(BYTE +1, BYTE #r)
{

BYTE t;
int 43
for(d=0; 1<4; i+ {t = 1[1]; 1{1] = r[1); r(11 = ;3

vold heryptli keyp(BYTE x[4]{4], BYTE xout[4){4], int index)
{

it i

BYTE fout{4);

for(i=0; 142; d++) {(k[21[4] ~= k{31{1]; %[2J[1+2] "= x(aJ(1+2);} /¢ P(16) »/
for(t=0; 1¢2; 1++) {x(3][4] = k[21[1+2]; k(31 (1+2) "= x[2}[1):} /e P(16) o/
mdsh_mul (k2] (0], ax(2] (0], 8);

ndsh_aul (ki (3] (0}, &k{a] [0, Oxb);

for(iz0; i<4; i) x[2][1] = hconst[index](1];

heryptli keyr(sk[1]1{0], fout, &x{2){0]);

Lor(i=0; 1c4; i+4) x[0][1] "= foutil; Je Le2(R) o/
tor{i=0; 1<4; i++) xout[0) [1) = x[0][1);

for(i=0; 1<4; i+s) Rout[4] (1] = foutft 1-x[21[t J;
for(i=0; i<4; 1+4) xout[21{1} = fout{t 1-k(31(t 1;
£or(120; 1¢4; 1) Xout[33[4] = k(11041 “x[al{t 3:
swap_key(2k({0] [0, ex(1][01);

void hexyptli.keyc(BYTE k[4)[4], BYTE kout{4][4], int index)
{

int 1
BYTE fout{4];

swap.kay(ak{0} [0}, ax[1}[0]);

heryptlikeyf(ax[1) {0}, fout, xx{2]1[0]);

Zor(ix0; i<4; 14+) %x(01[1) = fout(il;

for(i=0; i<a; i++) xout (0] [1] = x{o] [4)-ef2][1 J;
tor(i=0; 1<4; 1++) x(2] (1) "= heonstindez][1);

£ LoE(RY */

ndsh_nul(2k{2] [0], &x[2][0], oxb);
ndsh_nul(ax[3] 0], ax[3}[0], 016);
Lor(im0; i<a; i++)
for(1=0;
for(iso;

xout[1](1] = four{t 1-k(2]0t J;
xout[21(1] = fout[4 1-k[3)[1 1:
kous{3) (1) = k[1J[+ J-k[3)[t+ J;
1€2; 1e4) {x[31[4) "= x[2][i+2); R[3][4¢2] = k[2I[41:} /= {PL16)} =1 o/
for(im0; 1<2; 1++) {x[2){4] "= X[ [4]; x[21(1+2] "= k(31 [1+2};} /o {PC26)}"-1 &/

v01d heryptLi_setkey(BYTE *kay, BYTE Xs[HAX_ROUND+1] (4] (4]

BYTE x[4)[4], fout[4];
int i, 3, pos, x;
/% copy & padding */
for(poseix0; 1<4; 1++)

Lor(J=0; j<4; 3++) [1103) = xay[pos++];
ndsh_aul(ex[2]1[0], &k[21[0], 6); /¢ dumny start s/
ndsh_mul(ex[3] 0], ax[3){0), oxb);
for(ix0; i<4; is+) x[2][1) "= heonst[01[1]:
heryptly_Xeyf(ax(1)[0], fout, ax[2][0]);
tor(1=0; i<4; 1e+) x[0J[1] = fout{il;
svap_key(kx{0]1[0], &k[11£0]); /e dumny end s/
tor(r=0; r<4; r++) BeryptLt_keyp(ak[0], xxs{r][ol, hindex{r]);
tor(r=4; r<7; T¢+) heryptli keyc(Rk[o]l, kxsir1[0], hindex(rl);

/% LatCR) o/

}
void heryptLi_key_edtrans (BYTE eks[MAX_ROUND+1] [4][4], BYTE dxa[(MAX_ROUND+1][4](41)
{

int 4, §, X, T = MAX_ROUND;

Lor(3=0; 3<2; j++)
tor(k=0; K<4; k++)

for(i=i; ter; 4+4) {
for(3=2; j<4; §o+) heryptli_imdsd (xexs(r-1][31[0], &axs(i-13{j1{01);
heryptLi imésh(keks{r-1] (0], &dks{1]{0]);

}

axs[0][J1Ek] = exe[r)[3)(x];

tor()=2; j<4; §++)
for(J=o; J<2; j++)
for(k=0; k<4; X++)

heryptli.inds1(sexs(0) (31 (0], &dkalr-11{31{0]);
des{rl[J10x] = exaf0] (3] (x1;

3

int natn(}

{

BYTE koy(16], 1n(8), out{8], res(e];

BYTE ks (MAX_ROUND+1] (43 (4], xs2([MAX_ROUND+1}{4](4];
heryptli_setkey(key, ks); /e SRRER, +/
hcryptli_encrypt(in, out, ks); I BEB{E o/
heryptLl_key_edtrans(ke, ks2); /v WBRRER (xs->xs2 FHR) o/

neryptli_decrypt(out, res, xs2): 1o WH 8/

raturn EXIT_SUCCESS;

Hierocrypt—3 ¥ J LR

*  128-bit block cipher Hierocrypt~3
. Version 1.0 July 10 .
*  Copyright Toshiba Corporation 2000 »

tinclude <stdio.h>

#include <stdiib.h>

typedef unsigned char BYTE;
typeder unsigned int  POLY3Z;
Sdetine HAX_ROUND 8

#define prinitive 02163

BYTE sbox[266] = {

7,252, 86,112,162,142,132, 78,188,117,206, 24, 2,233, 93,128, 28, 96,120, 66,
167, 46,245,232,108,122, 47,164,178, 95, 25,136, 11,166,166,211,195,119, 61,111,
185, 45, 77,247,140,167,172, 23, 60, 90, 65,201, 41,237,222, 39,105, 48,114,168,
149, 62,249,216, 33,139, 68,215, 17, 13, 72,263,108, 1, 87,229,189,133,236, 30,
55,159,181,154,124, 9,241,177,148,129,130, 8,251,192, B1, 1§, 97,127, 26, 86,
150, 19,193,103,153, 3, 94,182,202,260,168,223,214,131,204,162, 18, 35,183,101,
208, 567,125, £9,213,176,175, 31, 6,200, 52,197, 27,121, 76,102,191,138, 74,196,
239, 88, 63, 10, 44,115,209,248,107,230, 32,184, 34, 67,179, 51,231,240,113,126,
82,197, 71, 98, 14,109,227,180, §9,100,238,246, 56, 92,244, 91, 73,212,224,243,
187, 84, 38, 43, 0,134,144,255,254,166,123, 5,173,104,161, 16,235,199,226,242,
70,138,108, 20,110,207, 53, 69, 80,210,146,116,147,225,218,174,168, 83,228, 64,
205,186,151,163,145, 49, 37,118, 54, 50, 40, §8, 38, 76,219,217,141,220, 98, 42,
234, 21,221,194,165, 12, 4, 20,143,203,180, 78, 22,171,170,160} ;

BYTE isbox[258) = {

184, 73, 12,105,246,191,128, O, 91, 85,143, 32,245, 69,164, 95,195, 68,116,101,
203,241,262, 47, 11, 30, 98,132, 16,247, 79,127,160, 64,162,117,232,226,182, 5§,
230, 62,239,183,144, 41, 21, 26, £7,226,229,155,130,206,228, 80,172,121,231,123,

48, 38, 61,142,219, 50, 19,153, 66,307,200,162, 70,176,138,134,233, 42, 7,261,
208, 94,160,217,181, 2, 99, 74,141,168, 49,175,173, 14,106, 26, 17, 96,238,163,
169,119,135,103,193, 56, 72,148,202,165,204, 39, 3,168, 58,145,211, 9,227, 37,
18,133, 25,190, 84,122,159, 97, 15, 89, 90,113, &, 77,185, 31,137,161,201, 65,
44,236, 5,248,186,224,210,212, 38, 60,100,222, 4,104, 83, 33, 34, 20,110, 81,
256,194,116,223, 27,244,189, 45, £9,216,264,263, 46,192,215,126,125, 87, 28,154,
260, 82,107,118,151, 40,221,180, 8, 76,167,136, 93,102,243, 36,139,131, 24,197,
129, 51,108,249,114,220, 10,205,120,146,209, 35,177,124,112, 67, 63,235,214,234,
237,242, 54,111,178,213,198,166,218, 75,149,166, 23, 13,240,198, 78, 53,170,140,
157, 85,199,179,174, 22,171, 43,147, 62,109, 62, 1, 71,188,187};

BYTE hconst[4](4) = {OxSa, 0x82, 0x79, 0x89, Ox6e, 0xd9, Oxeb, Oxal,
0x8f, Oxib, Oxbc, Oxdc, Oxca, Ox62, Oxei, Oxde};

int gindex[6](2] = {3,0,2,1,1,3,0,2,2,3,1,0};

int xconst(3]1(10) = {0, 1, 2, 3, 3, 2, 1,-1,-1,-1},

{1, 0, 3,2, 2,3,0, 1,71,71},{4, 0, 2, 1, 3, 3, 1, 2, 0,-1}};

BYTE mda[4]1[4) = {{0xc4, 0x85, 0xc8, Ox8b},{0x8b, Oxc4, Ox65, Oxc8},

{0xc8, 0x8b, Oxc4, 0x85},{0x66, Oxc8, 0x8b, Oxcé}};

BYTE nds_inv(41[4] = {{0x82, Oxc4, 0x34, Oxt6},{0xf6, 0xB82, Oxc4, 0x34},

{0x34, 0xr6, 0x82, Oxca),{Oxc4, 0x34, Oxfé, Ox82}};
int ndsn[41[4) = {{0x5,0x5,0xa,0x¢},{0xe,0%5 ,0x5,0xa},

{oxa,0xe,025,026},{0x5,0xa,0%8,0x6});
int mdsn_inv[4] (4] = {{Oxb,0xe,0xs,0%6},{0x6,0xB,0xe,0xd},

{0xe,0x6,0xb,0xa},{0xe,0ze,0%6,0xb}} ;
nt poly32_deg(POLYS2 a)

{

int n o= -1
2or(; a; a »s 1) neeg
return n;

}
POLY32 poly32.aul{PULY32 a, POLYS2 b)
{

POLY3Z ¢ = 0;
2or(; b3 B >>= 1, & <<= 1) 12(bE1) ¢ "= a;
return ¢;

POLY32 poly32.mod(POLY32 a, POLYS2 b)
{

int da = poly3z.deg(a):

it db = polydz_ deg(h);

POLY3Z t;

1f(de < db) return &;

1f(da =2 db) return ob;

b <<= da - db;

for(t = 1<<de; da >= db; da--){
4f(akt) a °= by b = {; t = 1

return a;
vold herypt_mdsl(BYTE #in, BYTE *out)
{

it 1, §;

POLY32  m;

for(is0; 1¢4; 14} {
=05
tor(i=0; j<4; J++) m "= poly3z.nod(polyd2_mul(ads[11(j], in[3]), prinitive);
out[i} = m;

¥
void herypt_xs(BYTE #in, BYTE sout, BYTE #ki, BYTE #k2)
4

BYTE t[4], ul4];
int 1

Tor{is0; i<4; i++)
Por(1=0; 1<4; 14+)
herypt_mdsl(t, w);
for(i=0; 1<4; {44}
Tor(120; 1<4; Lev)

uf1} = 1al1d"ki[1); /= xey XOR */
{11 = svox[ulill; /* sbox e/

/¢ WDS_L o/
(1] = ul1]"x2[1]; /» key XOR s/
out[1] = svox[t[il]; /¢ svox %/

void mdsh_mul(BYTE #in, BYTE *out, int x)
{

it 43

BYTE ul4l;

Lor(i=0; i<4; i++) ulfi) = 0;

it (xe1) {ul0]-=iaf0); w(3]-=tn{1]; uf2) =in{2]; u(8)-=inla);}

1 (x82) {ul0) =inlil; ul1]*=in[21; u{2}"=1n[8]"in(0); ul3}~=in(0];}

12 (x&4) {ul0)"=tnf2]; ul1}"=4n[3]"1a{0} ; uf2)*=4n{0]"4n[1]; wul3)"=tnl1);}
1t (x48) {u[0]"=in[0]-in(3]; ul1]-*1n(13"1nl0}; ul2)-=in{237in[1}; uw[3)-=1nl2];}
for(1=0; 1<4; 1+4) outil = uf1d;



b adsh_mul (k[3] (4], &x(31{4], Oxe);

void herypt_mdsh(BYTE in[41[4], BYTE ouz[41(4]) tor(1=0; i<4; L++) k{21 [1] “= hconstgindex(index][0J1 (1]}
{ zor(i=0; 1<4; 144) k2] [4+4) ~= hconst(gindex{indexI[111[1};
int 1, 3, & herypt.keys (2x[11(0), fout, zk[2]{01);
BYTE tupl4]; for(i=0; 1<8; 14+) k(0] [1} "= fout[il; /% L xor £(R) #/
for(1=0; 1<4; 1+#) for(i=0; i<4; 1e+) {xout[0}(i] = x[03[4]; kout[1]{1] = k(0] [1+4];}
for()=0; j<4; 1«) out[11[j1 = 0; for(i=0; 1<4; 1++) {kout(2) (1] = fout[1]1-x[2J[1]; xout(3}[1] = fout{iea] x(2][1+41;)}
for(i=0; 1<4; 1e¢) { for(1=0; 1<4; tee) {kout(4) (i) = fout[1]-x[3)1[4]; kout[SI[1] = fout[i+4]-x(3][1e4];}
for(j20; <45 Jo) { for(1=0; 1<4; iee) {xoutl6}{1) = x[1J[1] ~x[31{41; kout[71{1] = k[1)[1+4] k(31 [1+4];}
ndsh_mul(&in(§1{0], tap, mdsn(1)(3));: swnp,xoy(n[o] (0], &x(11{o1);
for(x=0; k<4; ko) out[1)[k] "= tmplkl; }
} vold herypt.keyc(BYTE k{4][8), BYTE kout{8][4], int indax)
} {
b3 it 4;
void herypt_encrypt(BYTE #in, BYTE sout, BYTE ka[MAX_ROUND+1](8]1[4], int kay_len) BYTE tout{sl;
{ swap_xey(ax{01 [0}, &x[1)[0]);
BYTE t[41{4], ul41{4); nerypt.koyf(kk(11{0], fout, &k[2]1[0]);
int 4, 3, 7,05 for(i=0; 1<8; i++)  x[0][4] "= rout[1}; /o LetQR) =/
<43 1o4) for(i=0; i<4; 1++) {kout{0I[1] = k[0] [41"k([2][1]; kout{1)}[1) = k[0) [1+4]~x[2]) [1+4];}
3 3<4; Yo+, T4) for(4=0; 1<4; 1++)  x[21(1] "= hconst[gindex(index]{011(11;
t{11{j] = ialc]; Lor(1=0; 1<4; i++) x[21 (1+4) “= hconst[gindex{index] [1)3{1];
n = Xey._len/64¢3; ndsh_aul(2k(2] (0], &x(2]1[0), Oxb); ndsh_mul(ax(2]{4], &x{2}[4], Ox3);
for(r=0; ren; r++) { mdsh_nul (ek(31 [0}, #x[3]1[0], Oxb}; ndsh_mul(ex(3]ls], &x{ajl4], 0x3);
nerypt.xs(et{o) [0), &ulo] (0], &xelrlfolfo], kkefr](4](0]); : for(1=0; i<4; i++) {xout{2}{1] = four{11-x{21[1); kout[3}[4) = four{i+4] k(2] [1+41;}
nerypt.xs(st[1][0], &ul1](0]}, &xs(r](11(0), 2xs[r][5][01); for{i=0; i<4; i++) {xout(4][4] = fout[1}-k{3}[1]; kout{5)}[1) = foue[i+4]1-k[3] (1i+4];}
herypt.xs(etf21 (0], &u[2)[0), aks[r]([2](0], 2xs[x](el(0)): for(i=0; i<4; 1+¢) {xout[61[4) = k(13 [1J-x[31[1}; Xout{7){1] = k(1I[1+4]-k[3}{i+4];}
herypt_xe(at{3}[0], &u[3][0], &xs(r)(31f0], &xs(r)(v3[0]); for(i=0; 1<4; 1++) {k[31[1] "= x(2](1+4]; x[3][1+4] "= k(2][1]; } /= {P(32)}"-1 &/
nerypt_mdsa(u, t); i for(i=0; i<4; 1++) {(k[21[1) “= x(3]1(1); x[2][1+4] "= x[3){4+4); } /s {P(32)}"-1 »/
“y ¥
nerypt.xs(xt 0] 0], aufol(0], axs(n]{0](0], 2ks{n](41(01); vold herypt.setkey(BYTE #key, BYTE ke{MAX_ROUND+1][8]1[4], int Xey.len)
nerypt_xs(at[11[0], aul11[0], aks{al(1](0], &kslnl(s][0)); {
nerypt_xs(et[2] (0], &ul21{0], 2xs(a]2)(0], kks[nll6][01); BYTE k(4] (8], foutl8];
herypt_xa(et (3] 0], sul3}[0], axs[n][31[0], axs[a)[7101); int 1, , pos, ¥}
for(r=1=0; 1<4; ie¢) /% copy & padding ¢/
for(j=0; J<4; J++, it (xey.len == 128) {
out{r] = ul41[33" kl[nbl][l][j]‘ for(pos=1=0; 1<2; 1+2)
for(§=0; 3<8; j**) k[11[3] = key(pos+el;
vold herypt.imdsl(BYTE «in, BYTE =out) for{)=0; J<8; J++) k[21[§} = xey[il;
{ for(1=0; 1<4; ie+)  k[3)[i} = hconst(3][1];
int &, §; for(120; 1¢4; 1++)  k(3][i+4] = heonst(2) [11;
POLYS2  m; b
for(1=0; 1<4; i4¢) { else 1 (key_lon == 192) {
a=0; . for(pos=i=0; 1<3; is+)
for(J=0; j<4: J*#) R °= polyS2 mod(polys2_mul(ads_tnv(i1(3], in[4]), primitive); Lor(§=0; J<8; J++) x[110J] = key[poses];
out{i] = u; for(1=0; 1<4; i++) k(31 [1) = hconst[2][1];
b for(1s0; 1<4; i4) k{31 (i+4] = hconst(31[11;
} }
void herypt_ixs(BYTE sin, BYTE sout, BYTE eki, BYTE #k2) else {
for(pos=i=0; i<4; 1++)
BYTE t[4), ul4l; for(3=0; 3<8; j*+) x[11 (3] = koylposes];
int 1 }
for(1=0; i<4; 1++)  ul1) = 1al1)-x1{1); /* kay XOR ¢/ mdsh_nul(2k{2] [0, &k(2][0], 5); ndsh mulax(2J[4], 2x[2](4], Oxe);
for(1s0; 1<4; 14+)  t{1] = isdox[u{tll; /e sbox »/ ndsh_mul (#k[3][0], &k[31[0), 6); ndsh_mul(ex[3)[4], 2x(3][4], Oxa);
Berypt.imdsl(t, w); /% WDS_L %/ for(4=0; 1<4; 1++) k[23 [1) "= hconstlgindex(s] (01 [11;
for(i=0; 1<4; i++)  t[i] = ul1)"x2[1]; /e key XOR s/ Tor(1=0; 1<4; 1++)  k[2][i+4] "= hconst(gindex{s]L1]1(4];
for(i=0; i<4; i+e) out{1] = isbox[t[il}; /¢ sbox o/ nerypt_keyg(ax[11[0], fout, ax[2](01);
} for(1=0; 1<8; i++) x(0] (1] *= fout(1}; /e Le2(R) */
void herypt_imdsh(BYTE in{41{4], BYTE out[41{4]) swap_key(2x[0] [0}, &R[1]1(0]);
{ 12 (key_len == 128) {
int 1, 3, % for(r=0; r<4; r++)  herypt_keyp(ax[0], &ks[r][0], keonst[0](r]);
BYTE tapl4l; for(r=4; r<7; r+e) herypt.keyc(ak(o], &ks[r)[0], kconst(ol[r]);
for(i=0; 1<4; 1+4) slse if (key_len == 192) {
for(§=0; 3<4; jo+) out{11[3] = 0 for(r=0; rc4; re++) herypt_keyp(2x(0], &ks[rl1[0), kconst{11(r]):
for(1=0; 1<4; 1+¢) { for(r=4; r<8; r++)  hcrypt.kayc(er(o], aks[rl(0], keonst{t1(x1}: }
for(j=0; 3<4; jee) { alse {
ndsh_nul(zin{3J]1{0], tmp, mdsh_inv[i1(j1); for(ra0; r<6; r++) nerypt_koyp(ak{ol, £ks[r] (0], kconst{2)[r]);
for(k=0; X<4; ke+) out{1){x] "= tnp(xl; for(r=5; r<@; r++) herypt_keyc(axfol, zxs(r](0], kconst{2)[r]); }
b
b3 void herypt_Key_edtrans(BYTE oks[MAX_RQUND+1][6]([4), BYTE dks{MAX_ROUND+1](€][4], int key_.len)
b {
vold herypt_decrypt(BYTE »in, BYTE tout, BYTE ka[MAX_ROUND+1]1[8](4], int key_len) it 4, 3, k, T3
{ T = key_len/64+4;
BYTE t{4]{4], ulelle); I<4; 349
int &, §, ¥, a3 03 k<d; kee)  dxe{0}[{§3[x} = akelx] {31 [k};
for(reix0; i<4; i+e) for(i=1; 1<r; 1++) {
for()=0; j<4; j*+, r++)  t(11(J] = Lalrl; zor(J=4; j<8; je+) herypt.indsl(geks(r-11[3) (0], adke{i-11[31C01);
n = key_len/G4+3; herypt. imdsh(keks[r-1] (0], adks{i]1[0]);
for(r=0; r<n; x++) { 3
herypt.txs(at{o][0], aufo]fo], axs{r](0)(0], aks[rl(4]fol); tor(j=4; j<8; J+¢) herypt.indsl(keks{0] [31(0], &dxs[r-11[31[01);
nerypt_ixs(et(11f0], &ul11{0], exs{r](1)(0], &xs{x][6][0]); 2or(§=0; i<4; 3++)
herypt_txs(ar(2£0], 2ul2) (0], exs{r](2} (0], &xs(r)(6](01}; for(k=0; k<d; k+e) dra{r] {31 0k] = oka[0] (5] (x1;
herypt. ixs(at[3}{0], &ul3)(0], &ksfr1(31[0], &xs(rl(7][0}); b
herypt.imdsh(s, ); tnt maial)
} {
herypt_ixs(at(0100], &ul0]f0), 2ks{r][0]f0], &ke[n](4]f0]); BYTE xey[32], inl16], out[16]}, res[16];
nerypt.ixs{et{1) (0], &ul11[0), &xs{r][1][0], &xs[n}{5}{0]); BYTE ks([MAX_ROUND#1}[8][4], ka2(MAX_ROUND+1][8][4];
nerypt.ixs(et[2] [0}, a[2]f0), axa[r][21[0}, aksnl[6](01); herypt_setkey(xey, ks, keylen); /o WRBER of
nerypt.ixs(et(3] (0], su(3]f0}, axs[r1(3)[0], &xs(nl(7if0]); nerypt_encrypt(in, out, ks, keylen); /« WSl +/
for(r=1=0; 1<4; i++) herypt_key.edtrans(kxs, ks2, keylen); /+ BBAMER (es->ks2 TH) +/
for(j=0; i<4; 4+, r++)  outlrl = ul11 (31 xelne1 (110305 herypt.decrypt(out, res, ks2, keylen); /e BOF o/
b3 return EXIT_SUCCESS;
void herypt_Xeyf(BYTE sin, BYTE #fout, BYTE #fXey) b3
{

int 1 ot g
for(1e0; 4c8; 1+%)  fout(i] = sbox(inl1]*tkey[11]; FTAbR 7_9
fout[0} “= fout{el; fout[1) ~= fout[s]; fout{2) = rour(6l; foutf3] "= fout[71; -1 =
fout[4] “= fout(2); foutls) -= foutls]; outls) = out[0); fous(7] = fout(sl; B e uTateca weowtsTa 49701878
plaintext: BE6DIBAE ABcinIA
ciphertaxt: Ocbioeds aba24347
Hhrocrypt 3 (xey length = 128 bits)
Xay: 4703c87¢ 817842c4 co6bI6Td 43701b76
plaintext: 85693846 db4cib3s BT27T2e55 5761c7L5
ciphartoxt: 5c5£4b00 Aec36d89 3cf1041a TtaSbae8
Hierocrypt-3 (key length = 192 bits)
vold herypt keyp(8YTE x[41(8], BYTE kout[s](4), tnt iadex) key:WP 77%2;0:1‘; 89058601 £7445513 88872377 324rbeld 30CH4LcE
{ plaintext: 54406620 9d931b33 0c9089td b4cb8269
ciphertext: 14310588 8dbbd50c b0al7193 enSba2id
Hierocrypt-3 (key length = 256 bits)
eyt 11818026 9a78dded 99474621 3b6n64d8 e34£fa0c cABGAES3 alf6Be1d 20419¢04
platntoxt: cléd7efc aicbafc? 625cbedc 2593de2d
clphertext: c86cd3be 23185232 03457463 BeAE1CH

}
void swap_key(BYTE =1, BYTE =r)
{

BYTE t;
int 43
for(i=0; 1<8; i++) {t = 1[1}; 1{1] = r{1]; r{i] = £;}

int  i;

BYTE foutls];

for(1=0; 1<4; i++) { x[2){1] °= x{3)[1]; x[2)[i+4] °= x[3][1+4]; }/» P(32) &/
for(i=0; i¢4; 1++) { x[3][1) "= x[2)[1+4); k(3] [1+4] ~= x(21[4]; }/= P(32) o/
ndsh_sul(ak(2] (0], ax[2](0], 8);

nadsh_mul(ax[2) (4], &x[2](4], Oxe);

ndsh_nul(ax[3] (0], ax[s1o], 5); (in hexadecimal)



